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We can subdivide [0, 10] into intervals of 
unit length and form rectangles with 
heights determined by the function f(x) 
values from the left endpoint of each 
interval. 
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We can use the right endpoints. 
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Check both of these calculations by hand. 

 
Divide the interval into smaller intervals. 
(1000 intervals) so each interval has a 
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The left end point approximations gives: 
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The right end-point approximation gives: 
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So the student can see that as the number 
of subdivisions increases, the 
approximation approaches the true value 

of ∫ =
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